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BASED ON N.CERT

Q. Division of 4-digit number by one digit
number.

a.6385+5= g.2184+7 =
b. 6384 +4= h.5048 + 8 =
C. 6600+ 6 = . 8444 + 4 =
d. 5136 + 4= e. 4365+ 2 =

Q. Divide and write the quotient and
Remainder :-

a.1710+18 = g. 1764 14 =

b. 1506 +11 = h.3855+15=

C.867/2+16= . 1261 +13 =




Q. Division of a 3- digit number by 1-digit number
leaving remainder :

a.835+2=_________
b.512+5=__
C.75%4+7=______
d44/7+4=_______
e./86+/=______ ___.
f.O35+2= _—
g.694+3=_________
N.929+9=__

818 +8 = _—
J86+7=________.
k.567+9=_________.
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